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but it is the key to the New Economy. cliché n.00 OO O e.g. ltisa
bit of a cliché , but you mean everythingtome. D O O O O OO
O0,00000,000000.Don" tgive methecliché again.
OO000000.keyn. O e.g. the key/answer to the question
the key to the door the entrance to the cave/theater the heir to the
throne the solution to the problem His investigation into the matter
IS the key to solving the problem. 2. tangible adj..0 O U O, OO0 [
--- intangible e.g. tangible assets [1 [1 I [ Sculpture is a tangible art
formJO000000O00O000OO 3.collapse v&amp.n O O,
[1 e.g. The economy of the country is on the verge of collapse. [J [
O O0O00000O. The building collapsed during the air raid. [
OO000000000 0. He went home after the hard work for
awholeday,collapsed. 1 O 0 OO0, 00dooodod. 4.
boostv. [ I ,00 O e.g. The vacation during the May Day has greatly
boosted domesticeconomy. 1 U O 000000000000
[1 . These changes will help to boost the share prices. LI [0 [ [0 O [
00000000, Internet boosts the involvement of parents into
the study of their children. 5. Geography often plays a key role in
determining who competed with whom. play all role in: take a [
partinJ OO 0O0O0O,00000 e.g. He plays the key/main role
intheplay. 0 OO O O O OO O . His father plays a central role in
his family. He played an important role in reaching the agreement



betweenthetwosides. J O OO OO, 000000000O0.6.
Instant interactivity is criticall] e.g. instant noodle/ coffee/success
*instantly,directly, immediately,the instancel] O U 0O O O 0O O ,0
[1 [0 assoon as. e.g. | send you the news instantly/the instant | got it.
| will call you the instant I arrive in Beijing. 7. adoption n. J [0 ,[J [J
adoptachild J 0 OO O adapt oneselfto LI (1 e.g. He found it
difficult to adapt to the city life. You have to adapt to the life in
college as soon as possible. 8. lead to LI [1 ,L] [ e.g. All roads lead to
Rome.lJ O O O O O OO Hisrumor led to great confusion. [ [
DO0000000000 Whatled you to thinkso? 0 U U O [
[ 000 9. get out of hand/ control I I [J [J e.g. once the car gets
out of hand, the result will be disastrous. J O O O 0O O O 0O O O
00000000 They are trying every means to keep the
situation from gettingoutofhand. O O O O 0O O O O O O 10. flip
side: reverse side LJ [ [J [J O 11. You are exposed to worldwide
competitors as well. expose v.L1 I ,00 OJ I, e.g. Don’ texpose the
soldierstounnecessaryrisks. O O 0 0 OO0 0O O00O. Don

' texpose children to too much violenceon TV. O O OO O O O
DO0000000000. beexposedto U 0,00 e.g.
Nowadays children are exposed to too much violence. I [ [ [0 [
0000000000, The flowers in the wild are exposed to the
windandrain. D OO0 OO0 OO0OOOO. 12. be willing to U
e.g. He is willing to pay the price | ask. Are you willing to go with us?
13.primead). O 0 O,0 00,000 prime Minister U O ,00 O O
[ primetime O O O O 14. pronounced adj..0 O O ,00 O O e.g.
He has pronounced ideasoneverything. O O O O O 00O OO O



[1 0O 0. Heisaman of pronounced opinions. LI I 01 [ 0O O O [
(1 0. 15. benefitfrom O 0O O OO O e.g. If you keep on, you will
benefit from physical exercises inthe longrun. O 0O O O ,00 O O O
OO0000000000. I have benefited a lot from morning
reading 0 000 O0O0O0.16.gapn. 00,0 0,00 e.g. There
IS a great gap between views of the two experts. 1 0 O 0O 0O O O O
0 0O 0O O. The gap between developing countries and developed
countries isbecomingnarrow. D U OO0 000 oddoddo
[0 00O 0. generation gap LI [ 17.physical barriers [ [ [ [
invisible barriers O UJ [0 O OO 18. The shelf space of the World Wide
Web is unlike any other in that it has no bounds. in that: since,
because e.g. He is not willing to move to the new houseg, in that he
dislikesthenoisesthere. 1 D O OO0 OO OO, 0000000
[J O 0O . Koalas are different from other animals in that they sleep
muchlonger. 0 0 0000000 O0OOD0OO0OOO0OOOONO
OO0O0000.19. premiumn. O O 20. aggregated adj. O O O,
[1 O aggregation n. [ [0 ,00 O strategic aggregation [ [J [ O 21.
customize v. O I e.g.Her dress fits well, for it was customized in the
pesttailor’ s 0O 00O00O0O,00000000O000O0O
[1.22. impulsen. I 00,00 0 e.g. He isa man of impulse.[] [0 O [
[ 00O 0O O. He called the girl that he met only once on impulse. [
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